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Staff Selection Commission
(Government Of India)

wosrowues. 880 BGL 2017 (T-2) - 21 Feb. 2018

EXAM DATE : 21-February-2018
EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID:1-1fA=1-10+3-12+5-14+7 + .. upto 60 terms, then what is the value of A?

GREA=1-10+3-12+5-14+7 +.. 60 TSI dh &, at A T H &1 &7
Options:

Correct Answer: — 270
Candidate Answer: — 270

QID : 2 - How many natural numbers are there between 1000 to 2000, which when divided by 341 leaves remainder 5?

1000 & 2000 & Heg T forat urepforen Sy €, fog 341 9 Ao o IR At 5 & 82
Options:

Correct Answer: 3
Candidate Answer: 2

QID : 3 - Which of the following statement(s) is/are TRUE?

1. V(64) + v(0.0064) + v(0.81) + v(0.0081) = 9.07
I1. ¥(0.010201) + v(98.01) + v(0.25) = 11.51

fefafea 8 @ o a/d sy g /8?

I. V(64) + v(0.0064) + v(0.81) + v(0.0081) = 9.07
I1. ¥(0.010201) + v(98.01) + v(0.25) = 11.51

Options:

1) Only |
e |

2) Only Il

& |l

3) Both land Il
| T 11 &=t

4) Neither I nor Il
Farlagil

Correct Answer: Only |

had |

Candidate Answer: Only |
e |

QID : 4 - Which of the following statement(s) is/are TRUE?

1. (0.7)2 + (0.07)2+ (11.1)2>123.8
I1. (1.12)Z + (10.3)2 + (1.05)2 > 108.3
refafed & @ o q/8 & g 8/8?

1. (0.7)2 + (0.07)2+ (11.1)2>123.8
I1. (1.12)2 + (10.3)2 + (1.05)2 > 108.3
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Options:
1) Only |
et |
2) Only Il
Fad |l

3) Both land Il

| 2 11 gt

4) Neither I nor Il
FaAIagi

Correct Answer: Only Il
Fad I

Candidate Answer: Only Il
Fad |l

QID:5-
Which of the following statement(s) is/are
TRUE?

1 1 1 1 12
i+ + tot————=—
<3 Bxb BUT MMx13 13
1 1 1 1 12

+ i+ fot————=—
1x2 2x3 3x4 125138 13

Fafaf@a & 9 sila T sua g7 722

1 1 1 1 12
+ 3 B S S
1x3 3x5 5x7T 1Mx13 13
1 1 1 1 12
3 i LR P
1x2 2x3 3Ix4 12x13 13

Options:
1) Only |
et |

2) Only Il

e I

3) Both land Il

| 2 11 g

4) Neither | nor Il
Faragi

Correct Answer: Only Il

Shad |l

Candidate Answer: Only Il
e I

QID : 6 - Which of the following statement(s) is/are TRUE?

1.3/71<5/91<7/99
I1.11/135>12/157 > 13/181

fFefafea & @ o i/ s g /82

1.3/71<5/91<7/99
II.11/135>12/157 > 13/181
Options:

1) Only |

et |

2) only Ii

ccll

3) Both land Il

| T |1 &=t

4) Neither | nor Il
Fdriagi

Correct Answer: Both | and Il
| g2 11 3

Candidate Answer: Neither | nor I

TFariag
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QID:7-1f1+(1/2) +(1/3) + ... + (1/20) = k, then what is the value of (1/4) + (1/6) + (1/8) + ... + (1/40)?

a1+ (1/2) + (1/3) + ..+ (1/20) =k &, ¥ (1/4) + (1/6) + (1/8) + ... + (1/40) 1 9 T &?

Options:
1) k/2

2) 2k
3) (k- 1)/2

4) (k+1)/2
Correct Answer: (k — 1)/2
Candidate Answer: k/2

QID:8-1fA=2%2B=231+2304+229+ +20andC=3"5+3"4+313+ _ +3° then which of the following option is TRUE?

gt A=232B=2314230420294 420 C=315+3144+313+  +3°F A A=fRifRa A o o Recu g 2?

Options:

1)C>B>A

2)C>A>B

3)A>B>C

4)A>C>B

Correct Answer: C >A>B

Candidate Answer: [ NOT ANSWERED ]

QID:9-If x+y =10 and xy = 4, then what is the value of x* + y*?

g x+y=10aATxy = 4 & A x* + y* w1 A= AT R?

Options:
1) 8464

2) 8432
3) 7478

4) 6218
Correct Answer: 8432
Candidate Answer: 8432

QID : 10 - M is the largest three digit number which when divided by 6 and 5 leaves remainder 5 and 3 respectively. What will be the remainder when M is divided by
11?

M & afent Y gat St T § O, 579 6 e 5 & frefSia fokar ST & @Y Suthet shAsn: 5 a3 Srar &1 51 M @t 11 /@ RenfSia fohar St at Qrwwher @ ghm?
Options:

01

2)2

3)3

44

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 11 - Which of the following statement(s) is/are TRUE?

.v6+v5>v7+v3
I.v6+V7>v8+V5
. v3+vV9>v6+V6

fFefafea 8 @ o /3 sy I /82

.V5+V5>v7++vV3

I.v6 + V7 >v8+ V5
. v3+vV9>v6+ V6
Options:

1) Only |

haet |

2) Only I and Il
Shaet | quT il

3) Only Il and Il
had [l ar Il

4) Only I and Il
Shaet | qT il

Correct Answer: Only | and Il

hadt | FT I
Candidate Answer: [ NOT ANSWERED ]|
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QiD:12-

|fa—\/§+\/E and b:\@_ﬁ

what is the value of a2 + b2 — ab?

then

afe ::'.!-—"/g'“ﬁE GE £J=:3£§::3§§ J

V3-42 V3+42

ar a2+ b?—ab T AT 4T &7

Options:

1) 97

2) (2v3) +2

3) (4v6) + 1

4) 98

Correct Answer: 97
Candidate Answer: 97

QID : 13 - If the difference between the roots of the equation Ax? - Bx + C = 0 is 4, then which of the following is TRUE?

gfe; geftereor AxZ — Bx + C = 0 & Ieil &7 3R 4 §, A R=fifRa A @ slq araaa 82
Options:

1) B2 - 16AZ = 4AC + 4B2

2) B2 - 10A2 = 4AC + 6A2

3) B2 - 8AZ = 4AC + 10A2

4) B2 - 16A2 = 4AC + 8B2

Correct Answer: BZ — 10AZ = 4AC + 6A2

Candidate Answer: [ NOT ANSWERED ]

QID : 14 - a and B are the roots of quadratic equation. If a + B = 8 and a — B = 2v5, then which of the following equation will have roots a* and p*?

a duT B fZErd gfieur & g €1 afe a + B = 8 dUT a — B = 2v5 &, dt a® qun g4 Fefafea & & forg geftewor & oot €2
Options:

1) x2 - 1522x + 14641 =0

2) x2+1921x + 14641 =0

3) x2- 1764x + 14641 =0

4) X2+ 2520x + 14641 = 0

Correct Answer: xZ — 1522x + 14641 = 0

Candidate Answer: [ NOT ANSWERED |

QID : 15 - If a and b are the roots of the equation PxZ — Qx + R = 0, then what is the value of (1/a2) + (1/b2) + (a/b) + (b/a)?

I a FuT b TR0 Px? - Qx + R =0 & gt &, @ (1/a2) + (1/b2) + (a/b) + (b/a) &1 &+ T §?
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Options:
1

(Q*-2P)(2R+P)

PR’
2
(@* -2PR)(R+P)
PR?
3)
(@ -2R)(2P +R)
PERQ
4
(@ -2PR)(2R+2P)
P2R2
Correct Answer:
(@* -2PR)(R+P)
PR?

Candidate Answer: [ NOT ANSWERED |

QID: 16 - If X2 - 16x — 59 = 0, then what is the value of (x — 6)2 + [1/(x - 6)7]?

Tl x2 - 16x - 59 = 08, @ (x = 6)2 + [1/(x — 6)2] & A =T &?
Options:

Correct Answer: 18
Candidate Answer: 14

QID : 17 - If A and B are the roots of the equation Ax? - A2 + AB = 0, then what is the value of A and B respectively?

g A o1 B gefietor Ax2 — A2x + AB = 0 & Tl &, dt ShHST: A T B T |1 &1 82

Options:
11,0

2)1,1
3)0,2

4)0,1
Correct Answer: 1,0
Candidate Answer: [ NOT ANSWERED ]

QID:18-

a and B are the roots of the quadratic equation x2 = x - 1 = 0.
What is the value of a8 + p8?

adur B figaa TfiaRorx?2 - x - 1= 0h g &1 a® + B8 T AM &=
g7
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Options:

1) 47

2) 54

3)59

4) 68

Correct Answer: 47
Candidate Answer: 47

QID:19-Ifa+b+c=9,ab+bc+ca=26a3+b3=91,b3+c3=72and c3 + a3 = 35, then what is the value of abc?

aRa+b+c=9ab+bc+ca=26a3+b3=91,0b3+c3=72aurcd+a3=35% dtabc FTAA FTE?
Options:

1) 48

2) 24

3)36

4) 42
Correct Answer: 24
Candidate Answer: 24

QID: 20 - If x3 - 4x2 + 19 = 6(x — 1), then what is the value of [x2 + (1/x - 4)]?

T x3 - 4x2 +19 = 6(x — 1) &, a1 [x2 + (1/x — 4)] o1 7 =1 &2
Options:

13

2)5

3)6

4)8
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]|

QID : 21 - Cost of 8 pencils, 5 pens and 3 erasers is Rs 111. Cost of 9 pencils, 6 pens and 5 erasers is Rs 130. Cost of 16 pencils, 11 pens and 3 erasers is Rs 221.
What is the cost (in Rs) of 39 pencils, 26 pens and 13 erasers?

8 Ui, 5 et JUT 3 IS A Hed 111 % &1 9 URIH, 6 ThetH duT 5 39S A1 Ged 130 T &1 16 G, 11 e a1 3 &S &1 Hed 221 F &1 39 Ui, 26 e a7 13 39S &l G (3 H)
T E?

Options:
1) 316
2) 546
3) 624
4) 482

Correct Answer: 546
Candidate Answer: [ NOT ANSWERED |

QID:22-If 2x+ 3y - 52=18,3x + 2y +z=29 and x + y + 3z = 17, then what is the value of xy + yz + zx?

gfe2x+3y - 52=18,3x+2y +2=29qAT X +y + 3z =17 &, A Xy + yz + zX T I T &?
Options:

1)32

2) 52

3) 64

4) 46
Correct Answer: 52
Candidate Answer: [ NOT ANSWERED ]

QID : 23 - PQR is an equilateral triangle whose side is 10 cm. What is the value (in cm) of the inradius of triangle PQR?

PQR T& gwaTg et & forrehl ofetr 10 &5 &1 Braqst PQR &t sia:Brean o o (3.4, 7) = &2

Options:

1) 5/v3

2) 10v3

3)10/v3

4) 5v2

Correct Answer: 5/V3
Candidate Answer: 5/v3
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QID : 24 - What is the area (in cmz) of the circumcircle of a triangle whose sides are 6 cm, 8 cm and 10 cm respectively?

Tk oot TRt ooy shwrsr: 6 .1, 8 T+t qam 10 .Y, &, 3 uRqm o1 &the (§.1.2 8) = &2

Options:
1) 275/7
2) 550/7
3) 2200/7
4)1100/7

Correct Answer: 550/7
Candidate Answer: 550/7

QID: 25-
In the given figure, MNOP is a parallelogram.
PM is extended to Z. OZ intersects MN and
PN at Y and X respectively. If OX = 27 cm and
XY = 18 cm, then what is the length (in cm) of
YZ?

& o T A, MNOP T FAIGR aget
g1 PM & Z G SoTaT 9= g1 0Z, MN a=r
PN & &H: Y 94T X W Uia=oe #dar gl
afe OX =27 @& gur Xy =18 @ & ar
YZ &t gFars (T &) Fm g2

Z
M—Y— N
P O
Options:
1)21.4
2)22.5
3) 23.8
4) 24.5

Correct Answer: 22.5
Candidate Answer: 22.5

QID : 26 - ABCD is a trapezium in which AB is parallel to CD and AB = 4(CD). The diagonals of the trapezium intersects at O. What is the ratio of area of triangle DCO
to the area of the triangle ABO?

ABCD Ueh e & fSrH AB, CD & GHIaR & 4T AB = 4(CD) 81 el o ol O W ufcredead eed &1 st DCO & &thet ot ST ABO o &5thel & &RIT 31U 82
Options:

Correct Answer: 1:16
Candidate Answer: 1:16
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QID : 27 -

In the given figure, ABC is an equilateral
triangle. Two circles of radius 4 cm and12
cm are inscribed in the triangle. What is the
side (in cm) of an equilateral triangle?

& 915 3epfd #, ABC T HHSIUT e
g1 4 A U128 B g & dcd
B & sifha 81 @apIoT Brere & s
&7 #7) Fa7 82

Options:

1) 32/¥3

2) 32v3

3) 64/v3

4) 64v2

Correct Answer: [ No Correct Answer ]

Candidate Answer: 32v3

- Powered by IBT
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QID:28-

In the given figure, SXis tangent. SX' = OX =
OR. If QX =3 cm and PQ = 9 cm, then what
is the value (in cm) of OS?

&r a1 i A, SX UH T [@M gl SX =
OX=0R & I Q=3 & g PQ=9
q.#dT. & ar 0S &1 A (W.H. #) Fa7 §7

P

Options:

16

2)5

3)4

4)3

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 29 - PAB and PCD are two secants to a circle. If PA =10 cm, AB = 12 cm and PC = 11 cm, then what is the value (in cm) of PD?

PAB dT PCD Ueh g1 UR &1 8 @1g &1 af PA = 10 §. #Y, AB = 12 &. #t. a1 PC = 11 §. =Y. g, at PD a1 71 (. . &) R 82
Options:

1)18

2)9

3) 20

4)12

Correct Answer: 20

Candidate Answer: 20

QID : 30 - Triangle PQR is inscribed in a circle such that P Q and R lie on the circumference. If PQ is the diameter of the circle and 2PQR = 40°, then what is the value
(in degrees) of LQPR?

Teh g1 H AT PQR 39 WaR Sifchd & fh P Q 1 R uRfY o fR¥a 81 afE PQ gF o 14 & 991 £PQR = 40° 8, @ QPR &1 74 (fewft ) s=m 82

Options:

Correct Answer: 50
Candidate Answer: 50
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QID:31-

In the given figure, L QRU = 72°, Z/TRS =
15° and /PSR = 95°, then what is the
value (in degrees) of ZPQR?

& 9% 3Mepid H, LQRU = 72°, ZTRS =
15° daT /PSR = 95° g, a ZPQR T
At (330 /) Far 82

P Q
S
T R U

Options:
1) 85
2) 95
3)75
4) 90

Correct Answer: 95
Candidate Answer: 85

QID : 32 - What can be the maximum number of common tangent which can be drawn to two non-intersecting circles?

2 IR gl & siftiaran Rrat sreasf Xt i o Tt 22

Options:

Correct Answer: 4
Candidate Answer: 4

QID : 33 - Triangle PQR is inscribed in the circle whose radius is 14 cm. If PQ is the diameter of the circle and PR = 10 cm, then what is the area of the triangle PQR?

ST PQR g fSraeht o1 14 3.+1. 8, 7 Sifchd &1 afé PQ g<1 a1 e & @2 PR = 10 §.#1. , df A13sT PQR & &51thet RI1 87

Options:
1) 196

2) 30v19
3) 40v17
4) 35v21

Correct Answer: 30v19
Candidate Answer: 30v19

QID : 34- PQRis a right angled triangle in which PQ = QR. If the hypotenuse of the triangle is 20 cm, then what is the area (in cm?) of the triangle PQR?
PQR Teh Tmahtor Ry & fored PQ = QR &1 afé Riogst o1 arof 20 .41, &, dt gt PQR o1 o gt (37012 #) & o 22

Options:
1) 100v2
2) 100
3) 50v2
4) 50
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Correct Answer: 100
Candidate Answer: 100

QID : 35- PQRS is a square whose side is 20 cm. By joining opposite vertices of PQRS are get four triangles. What is the sum of the perimeters of the four triangles?

PQRS Qe af & fSrerehr oot 20 9.+, 81 PQRS & fawiia <fief &t fiem tR IR et o1t gt &1 9w Bragsi o afmrat & iy e 82

Options:
1) 40v2
2) 80v2 + 80
3) 40v2 + 40
4) 40v2 + 80

Correct Answer: 80v2 + 80
Candidate Answer: 40v2 + 80

QID : 36 - If ABCDEF is a regular hexagon, then what is the value (in degrees) of ~ADB?

gf& ABCDEF Ueh 99 WEST &, at 2ADB &1 71 (faft #) i 82
Options:

1)15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: 30

QID : 37 - ABCD is square and CDE is an equilateral triangle outside the square. What is the value (in degrees) of ~BEC?

ABCD Ue aif § Ju1 CDE &rf & aTeR Yeh awang st &1 2BEC &1 w1 (fft #) 82
Options:

Correct Answer: 15
Candidate Answer: 30

QID : 38 - There is a circular garden of radius 21 metres. A path of width 3.5 metres is constructed just outside the garden. What is the area (in metresz) of the path?
21 Hiex BieaT a1er Yeh geTehR e &1 IeT §ich aTeR 3.5 Hiex Hiers aret Goh vy ot mfor fova mam 81 uer ot ket (fiez? #) o 82

Options:
1) 50.05
2) 57.56
3) 52.12
4) 56.07

Correct Answer: [ No Correct Answer ]
Candidate Answer: 50.05
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QID:39-

In the given figure, PQRS is a square whose
side is 8 cm. PQS and QPR are two
guadrants. A circle is placed touching both the
guadrants and the square as shown in the
figure. What is the area (in cm?) of the circle?

& 1 IHfd A, PORS wH T § fawdH
qoT 8 AL ¥ PQS I QPR Fed & @l
a9 AT §l UF ged, Ged & Gl Ogy
AEI JUT g9 H T & @I g oo R
FHfT H gURT T El god W SRS
(FHT2 #) F2T §?

S R
P Q
Options:
1)13/17
2)11/14
3) 19/31
4) 15/19

Correct Answer: 11/14
Candidate Answer: [ NOT ANSWERED ]|

QID : 40 - The base of a prism is in the shape of an equilateral triangle. If the perimeter of the base is 18 cm and the height of the prism is 20 cm, then what is the
volume (in cm3) of the prism?

Tk fOrsH T SR T el & ek & &1 af snem Y uRfYy 18 A.#1. & o firew Ay S 20 .40, 2, At frew ot simgasy (.+41.8 #) @ 82

Options:

1) 60v3

2) 30v6

3) 60v2

4) 1203

Correct Answer: [ No Correct Answer ]

Candidate Answer: [ NOT ANSWERED ]

QID : 41 - The height of a cone is 24 cm and the area of the base is 154 cmZ. What is the curved surface area (in cm?) of the cone?
Teh 27 Y e 24 DA, & FUT SNYR BT ket 154 .H2 1 2 & ok GEIT &vhet (712 F) 1 82

Options:

1) 484

2) 550

3) 525

4)515

Correct Answer: 550
Candidate Answer: 550
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QID : 42 - A right circular solid cylinder has radius of base 7 cm and height is 28 cm. It is melted to form a cuboid such that the ratio of its side is 2 : 3: 6. What is the
total surface area (in cm?) cuboid?

Ueh G IR 319 S o STTYR el Bear 7 9.4, qur $arg 28 9.5, &1 8 Fgcient Geh 99T §9 UehR ST ST & foh Ieh! ST a1 SUTd 2 : 3 : 6 § 1 BT &l Hd 81T &sthel
@A 2d) Fd?
Options:

1)

2148

3

4

3’2048
3

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]

QID : 43 - Aright circular cylinder is formed. A = sum of total surface area and the area of the two bases. B = the curved surface area of this cylinder. f A:B=3:2
and the volume of cylinder is 4312 cm®, then what is the sum of area (in cm?2) of the two bases of this cylinder?

Tk TH IR S STAT STl &1 A = eT GEIT STthet <hT TN 2T & STTeN<} <hT &7thel | B = 39 i1 ol ash GEIT &het | T2 A : B = 3 2 T 3o o1 omga 4312 3.3 8, drgm
ST & ST ST o Srhet (§.#1.2 F) o1 &/ g T 22
Options:

Correct Answer: 308
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - A solid sphere has a radius 21 cm. It is melted to form a cube. 20% material is wasted in this process. The cube is melted to form hemisphere. In this
process 20% material is wasted. The hemisphere is melted to form two spheres of equal radius. 20% material was also wasted in this process. What is the radius (in
cm) of each new sphere?

e 31 et i Broar 21 S+ &1 33 fraeren) Tes 941 s Sirar 81 39 ufohar & 20% arrft saef gt St 81 9 oY fraretren? g srefier sHmar Sirar &1 39 ufshar & 20% arft saef gt
STt &1 Srefriet ot frereTTeny &t 9T s aret & et g3 ST &1 39 ufthar & off 20% et oft @ref g 12 oft | v U e B B (3.4 7) ® d?

Options:

42(35)
21(48)
3)2.1(i/1 )
411.2(%/1)

Candidate Answer: [ NOT ANSWERED ]
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QID : 45 - A solid hemisphere has radius 14 cm. It is melted to form a cylinder such that the ratio of its curved surface area and total surface area is 2 : 3. What is the
radius (in cm) of its base?

e 319 STt <l Forsam 14 3.t 31 59 Roetem To o 59 UehR ST STTaT & foh 3990k ash JHia Sthel 9T el Y81 &15thel ol S1gUTd 2 @ 3 &1 39 U <t frwar (/.4 7)

21

Correct Answer:

s

3/5

Candidate Answer:

3
QID : 46 - A cuboid has dimensions 8 cm x 10 cm x 12 cm. It is cut into small cubes of side 2 cm. What is the percentage increase in the total surface area?

Qe O ol 31 8 AT, x 10 A1 x 12 .. 81 59 2 Y. 9[oT aret BI =1 # el ST 81 Hol YSIT &thet # foheat Ufdira i 3 g3 672

Options:
1) 286.2
2) 314.32
3) 250.64
4) 386.5

Correct Answer: 386.5
Candidate Answer: 386.5

QID : 47 - A pyramid has a square base. The side of square is 12 cm and height of pyramid is 21 cm. The pyramid is cut into 3 parts by 2 cuts parallel to its base. The
cuts are at height of 7 cm and 14 cm respectively from the base. What is the difference (in cm3) in the volume of top most and bottom most part?

Qe fORIFAE o SMTeR e af &1 &t Al ofatr 12 &0, qor foRifire <t Sag 21 S5, 81 foRifore ont S ch SiTeR & iR 2 heral § 3 41T § hiel SITdT 81 Sherd SR & shAsT: 7 AT,
U 14 4., & A W 21 Yo SR a1 FaQ A & W & ATFAT b 3R (.43 F) g2

Options:

1) 872

2) 944

3) 786

4)918

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]

QID : 48 - What is the value of {(sin 4x + sin 4y) [(tan 2x = 2y)]}/(sin 4x — sin 4y)?

{(sin 4x + sin 4y) [(tan 2x — 2y)]}/(sin 4x — sin 4y) @I A9 X1 &2
Options:

1) tan 2 (2x + 2y)

2) tan?

3) cot (x - y)

4) tan (2x + 2y)

Correct Answer: tan (2x + 2y)

Candidate Answer: [ NOT ANSWERED ]|
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QID : 49 - What is the value of (32 cos® x — 48 cos* x + 18 cos2 x — 1)/[4 sin x cos x sin (60 - x) cos (60 - x) sin (60 + X) cos (60 + x)]?

(32 cos® x - 48 cos? x + 18 cos? x - 1)/[4 sin x cos x sin (60 — x) cos (60 - x) sin (60 + x) cos (60 + x)] & A =T &?

Options:

1) 4 tan 6x
2) 4 cot 6x
3) 8 cot 6x
4) 8 tan 6x

Correct Answer: 8 cot 6x
Candidate Answer: [ NOT ANSWERED ]

QID : 50 - What is the value of [2 cot x (p — A)/2]/[1 +tan2 x (2p - A)/2]?

[2 cot x (p = A)/2)/[1 +tan? x (2p — A)/2] 1 &1 &1 &2
Options:

1) 2 sin2 A/2

2)cos A

3)sin A

4) 2 cos2 A/2

Correct Answer: sin A

Candidate Answer: [ NOT ANSWERED ]

QID : 51 - If tan 6 + sec 8 = (x — 2)/(x + 2), then what is the value of cos 67

afg tan 6 + sec B = (x — 2)/(x + 2) &, dt cos 6 T A FT&?
Options:

1) (x2 - 1)/(x2+1)

2) (2x2 - 4)/(2x% + 4)

3) (x2 - 4)/(x2 + 4)

4) (x2 -2)/(x2+2)

Correct Answer: (x2 - 4)/(x2 + 4)

Candidate Answer: (x2 - 4)/(x2 + 4)

QID : 52 - What is the value of (cos 40° — cos 140°)/(sin 80° + sin 20°)?

(cos 40° — cos 140°)/(sin 80° + sin 20°) &1 HT7 HIT &?

Options:

1) 2v3

2) 2/v3

3)1/v3

4) V3

Correct Answer: 2/v3

Candidate Answer: [ NOT ANSWERED ]|

QID : 53 - What is the value of [1 — tan (90 - 8) + sec (90 - 8)]/[tan (90 - 8) + sec (90 - 6) + 1]?

[1 - tan (90 - 6) + sec (90 - 8)]/[tan (90 - 6) + sec (90 — B) + 1] T A T &?

Options:
1) cot (6/2)

2) tan (8/2)
3)sin®

4) cos 6
Correct Answer: tan (6/2)
Candidate Answer: [ NOT ANSWERED ]|

QID : 54 - What is the value of [sin (90 — A) + cos (180 — 2A)]/[cos (90 — 2A) + sin (180 — A)]?

[sin (90 — A) + cos (180 — 2A))/[cos (90 — 2A) + sin (180 — A)] T 719 &1 &?

Options:
1) sin (A/2) cos A

2) cot (A/2)
3) tan (A/2)

4) sin A cos (A/2)
Correct Answer: tan (A/2)
Candidate Answer: [ NOT ANSWERED ]



www.makemyexam.in - Powered by IBT

QID : 55 - The distance between the tops of two building 38 metres and 58 metres high is 52 metres. What will be the distance (in metres) between two buildings?

3} 3RS 38 Hiex aur 58 ez Hft €, & <ol & wem gt 52 wfiex &1 T FARAT & Hewr I g (+fiex H) T ghf?
Options:

1) 46

2) 42

3)44

4)48

Correct Answer: 48

Candidate Answer: 48

QID : 56 - The angles of elevation of the top of a tree 220 meters high from two points lie on the same plane are 30° and 45°. What is the distance (in metres) between
the two points?

220 Hiex S Toh g&7 o &t farg 3Tl ol T def OR 379 0T 30° JuT 45° 81 3 forgsit & Aer g (i #) 7 82

Options:

1) 193.22
2) 144.04
3)176.12
4) 161.05

Correct Answer: 161.05
Candidate Answer: 144.04

QID : 57 - The angles of elevation of the top of a tower 72 metre high from the top and bottom of a building are 30° and 60° respectively. What is the height (in metres)
of building?

72 HieR 3 G HHR & 2fief o1 SR & SR TAT A T I 101 shART: 30° AT 60° § 1 FAR Gl HaTs (e /) A | g2
Options:

Correct Answer: 48
Candidate Answer: 48
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QID: 58 -

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_Iwnsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

What is the difference between the number of students who were present in Physics and Biology examination from school N?

frermera N & oftfarehT qen Sfia famm 6 uden & Iufeq ettt 6 dwer & = sfar 82

Options:
1) 21150

2) 14352
3) 22594

4) 24250

Correct Answer: 22594
Candidate Answer: [ NOT ANSWERED ]|
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QID: 59 -

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_Iwnsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

Number of students who were present in Physics examination from school M is what percent of number of students who were absent from school M, L and 0?

e M & sfifadht &t adten & Sufed fenffal & I, femer M, L aum 0 9 srgufeda faenffat di e e foraen ufaera 82

Options:
1) 22.48
2) 29.28
3)9.09
4)13.4

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]
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QID: 60 -

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_Iwnsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

- Powered by IBT

What is the average of the number of the students who were present in Physics examination from school N, K and L?

faemmera N, K ar L & «fifadht &t udten & Iufeda fQenffat i dwen o sitwa = &2

Options:
1) 109635

2) 84632
3) 74365

4) 67894

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]|
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QID: 61-

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig arfersT A g e gar «if3dr fir afew
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_Iwnsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

- Powered by IBT

What are the total number of students who were present in the Biology examination from all the schools together?

gt formerat @ feTrene Sfta fasm & uden # Renflat &6 o dwear 87

Options:
1) 193462

2) 249048
3) 326438

4)211738

Correct Answer: [ No Correct Answer ]
Candidate Answer: [ NOT ANSWERED ]|
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QID: 62 -

The table given below shows the number of students
who were absent and percentage of students who
were present in the given two examinations from five
different schools. The table also shows the
percentage of students who were present in the
Biclogy and Physics examination respectively.

A & s arfeer F & e oar oftemst A aiw
Rt Riegmemt @ seity Reanfiat #r g
Fur Fuftya feanfiat & gfeaa & gurar T &)
Ig diforeRr &AW Sa faee dur s v ader
# suftys Remfdat ¥ sfdea &t o gare 3

Biology i
T —— P_refent (in %) / P_Iwnsms
School / gt (in %) / o (in %) /
faearerg | 3uteud sitferhr
I I

(% #)

K 83300 65 32 68

L 101520 60 29 [

M 113520 40 30 70

N 60830 65 42 58

9] 24003 25 25 75

If the number of students who were present in the Physics examination from school A is 250% of the difference of the number of the students who were present in
Physics and Biology examination, from school K, then what is the ratio of the number of students who were present from school L to number of students who were
present in Physics examination from school A?

I freera A & ifae o &t wden 7 fenffat i e, feeme K @ «fifaes fam au s s & wihen & Sufed fenffat 6 g & 7o & $faR 250% &, @ Remea L & g
S fenffat & dwear o faerea A & vifaes fasm & adten & Iufed gat S &l dw 4 T SrguT 87

Options:

1) 5079 : 4631

2) 1692 : 1547

3) 1547 : 4631

4) 1692 : 2345

Correct Answer: 1692 : 1547

Candidate Answer: [ NOT ANSWERED ]

QID : 63 - A jar contains a blend of a fruit juice and water in the ratio 5 : x. When 1 litre of water is added to 4 litres of the blend the ratio of fruit juice to water becomes
1:1. What is the value of x?

Teh SR § Wt o1 3 SR Ut 1 frsror Tt € foraent orqurd 5 : x &1 9198 4 efiex & frsror & 1 oftex ur=ht fyeman sirar & &t whet 3 <9 SR urft &7 srqurd 1: 1 81 ST &1 x &1 1 Rt 82
Options:

1)3

2)1

3)2

44

Correct Answer: 3

Candidate Answer: 3

QID : 64 - An alloy contains copper and tin in the ratio 3 : 2. If 250 gm of copper is added to this alloy then the copper in it becomes double the quantity of tin in it.
What is the amount (in gm) of tin in the alloy?

Ten sy arg # i ofR 1 o1 SrguTa 3 @ 2 81 afk 9 ey eng & 250 7 afen e o STrar 8 ot 59 Sufedra afen s Iufedrd e &t /1 ol QR 8t ST 81 59 s arg 7 o1
fora=it | (I H) # 87

Options:

1) 250

2) 750

3) 1000

4) 500

Correct Answer: 500
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Candidate Answer: 500

QID : 65 - A starts a cement trading business by investing Rs 5 lakhs. After 2 months, B joins the business by investing Rs 10 lakhs and then 4 months after B joined C
too joins them by investing Rs 20 lakhs. 1 year after A started the business they make Rs 3,50,000 in profit. What is B's share of the profit (in Rs)?

A, 5 g 3uET el A3 ek HiHT SATIR 1 HaEr TR el 81 2 FeH! 916 10 ARE F0i T (a2 veh B oft TR & S S11a1 & I B o STUR € S8 o 4 #eiH! o1& C #f 20
ARG TUT o1 32T ek ATUR T IS ST &1 A 3 SATUR TR &he & 1 98 U 3-8 AR # 3,50,000 FUdT &1 &1 giat 81 a1 & B & fga foramm (wut #) 82

Options:
1) 75000
2) 1,25,000
3) 1,50,000

4) 1,00,000
Correct Answer: 1,25,000
Candidate Answer: 1,25,000

QID: 66 - A, B and C invest in a business in the ratio 3: 6 : 5. A and C are working partners. Only B is a sleeping partner hence his share will be 3/4th of what it would
have been if he were a working partner. If they make Rs 50,000 profit, half of which is reinvested in the business and the other half is distributed between the partners,
then how much does C get (in Rs)?

A, BauTC freft aamar 3 : 6 : 5 argura & fAder & §1 A 71 C afd uridR (9feha vfierR) &1 aiifer B Tiftn uréer & ora: Iunt e 39 < &1 3/4 gl St 39k afdh uridR
B W gaT| afg 3¢ 50,000 TG T AT g & o @ one) i3 o O: R & faer o feam Sirar & ofiR arehl & one) i3 ot uréa—t g e foram Siran & &t C et fovaa (Foai H)
fAem?

Options:

1) 20000

2) 6000

3) 10000

4) 9000

Correct Answer: 10000
Candidate Answer: [ NOT ANSWERED ]

QID : 67 - A can do a work in 21 days and B in 42 days. If they work on it together for 7 days, then what fraction of work is left?

A foreht ey &Y 21 foT o= Geparr & 3R B 5@ 42 R & & Geha1 81 afe @ 7 o Uep 1 A ahed & aiY &h1H vl ol fRea s=ivm?
Options:

1)1/3

2)1/4

3)2/3

4)1/2
Correct Answer: 1/2
Candidate Answer: 1/2

QID : 68 - A can paint a house in 55 days and B can do it in 66 days. Along with C, they did the job in 12 days only. Then, C alone can do the job in how many days?

A Rt e it 55 Rl A e e FeneT & R B 39 66 AT H o Tere §1 C o e fiieient & 59 A ot 12 R & qR1 Tkt &1 @t C STehal 39 &M ot ot et & avemr?

Options:
1) 24

2) 44
3)33

4) 20
Correct Answer: 20
Candidate Answer: 20

QID : 69 - A, B and C together can finish a task in 12 days. A is twice as productive as B and C alone can do the task in 36 days. In how many days can A and B do the
task if C goes on leave?

A, B T C foreft & ol ges 1 12 e & wger R & €1 B Y g | A &1 AT 1k Ieure et § SR C 31kl 39 i Y 36 AT & o TehaT 81 afd C 6 R Ia sar € | A 8k
B fAetenR 39 &/ ot fohamt femr & e A2

Options:

1) 10

2) 20

3)15

4)18

Correct Answer: 18

Candidate Answer: 18
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QID : 70 - A, B and C can together do a job in 9 days. C alone can do the job in 36 days. In how many days can A and B do 50% of the job working together?

A, BT C et s &t 9 et f qr e @ €1 C 31chelT 39 1A ot 36 ol A & 1T 81 A T B Geh T &hTH &l §Y 50% 1 e et & e @ivl?
Options:

16

2)12

3)9

4)15
Correct Answer: 6
Candidate Answer: 6

QID : 71 - Giving two successive discounts of 25% is equal to giving one discount of %.

25% I T TR BT ___% & Yeh TE S SRR Fielt 2
Options:

1) 43.75

2) 56.25

3)50

4) 45
Correct Answer: 43.75
Candidate Answer: 43.75

QID : 72 - If a watch is being sold at Rs 7,225 which is marked at Rs 8,500, then what is the discount (in %) at which the watch is being sold?

Ife g ul foraehr sifcnd da 8,500 U2 & 7,225 Fudl | sl STt & o gt W fhah e (% #) & mi?
Options:

1) 24

2)15

3) 25

4) 20
Correct Answer: 15
Candidate Answer: 15

QID : 73 - On a machine there is 10% trade discount on the marked price of Rs 2,50,000. But the machine is sold at Rs 2,16,000 after giving a cash discount. How
much is this cash discount (in %)?

Te AfA Fore wR Sifdhd e 2,50,000 92 8 TR 10% BE & STt & | UReg Aha Qe & o o1& Af 2,16,000 0l & o<t STt 81 Fehs e (% #) fhat off?

Options:

15

2)4

3)6

47

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - A trader marks up his goods by 120% and offers 30% discount. What will be the selling price (in Rs) if the cost price is Rs 750?

Teh SR ST a¥gaTl IR qed 120% & FgTan fAfad T & 3R 30% deh &1 e a7 &1 AfE AnTa qed 750 T3 & af feha e (30t #) a ghm?

Options:
1) 1225
2) 1080
3) 1280
4)1155

Correct Answer: 1155
Candidate Answer: 1155

QID : 75 - Sanjay's test marks in two subjects, English and Hindi are in the ratio 7 : 11. If he got 20 marks more in Hindi than in English, what are his marks in English?
3 ot SiEh ik Bt o uten & <iora & Sicl o1 orgurd 7 ¢ 11 81 afk sfisit & g 7 39 8 7 20 sier a1fdver ferd €, ot siisht 7 39 foham ik frer?

Options:

1) 35

2) 55

3) 45

4) 65
Correct Answer: 35
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Candidate Answer: 35

QID : 76 - The ratio of present ages of Simi and Seema is 5 : 4. After 9 years the ratio of their ages will be 8 : 7. What is Simi's present age (in years)?

et ok T Y afaTT oy AT SIgUTa 5 ¢ 4 819 T &1g AT STRY T SIUTE 8 : 7 & Srgem | Rt Y acfArm sy R & (It H)?

Options:
1)12

2)15
3)24

4) 21
Correct Answer: 15
Candidate Answer: 15

QID : 77 - Find the third proportional to 6 and 12.

6 AT 12 T AERT STl @lai|

Options:
1)18

2)9
3)24

4)15
Correct Answer: 24
Candidate Answer: 24

QID : 78 - According to the will the wealth of Rs 21,25,000 was to be divided between the son and the daughter in the ratio 7/6 : 5/3. How much did the son get (in
Rs)?

THIad & SITER 21,25,000 FUT i Gufy &t T SR T A 7/6 : 5/3 & SIUTd A aier 7411 T i = e (3wt #) fAar?

Options:
1) 875000

2) 12,50,000
3) 10,00,000

4) 11,25,000
Correct Answer: 875000
Candidate Answer: 875000

QID : 79 - If Rs 25,000 is to be divided between A, B and C in the ratio 1/10: 1/6 : 1/15, then how much will C get (in Rs)?

g% 25,000 Uzt &t A, BaaT C & 1/10: 1/6 : 1/15 & SIUTd | FieT STQ &t C <l &R (3ot ) fArem?

Options:
1) 5000

2) 7500
3) 10000

4) 12500
Correct Answer: 5000
Candidate Answer: 5000

QID : 80 - Rizwan has a box in which he kept red and blue marbles. The red marbles and blue marbles were in the ratio 5 : 4. After he lost 5 red marbles the ratio

became 10 : 9. How many marbles does he have now?

st 3 gen ot § et ofR At s i miferat Tt €1 e aun et Miferai 5 ¢ 4 & srgura 8§ &1 5 aret mierat @Y SR & a1 SrguTd 10 1 9 8 STTaT 81 39k Ut 31 fohat miferat sft
&

Options:

Correct Answer: 76
Candidate Answer: 76

QID : 81 - The average weight of L, M and N is 93 kg. If the average weight of L and M be 89 kg and that of M and N be 96.5 kg, then the weight (in kg) of M is

L, M a1 N o7 3fra asr 93 fh.am. 1 afg L iR M o1 3fiad asr= 89 foh.am. iR M @ N &1 it awi= 96.5 fh.am. @ St M st awi= ___ oo, ghmi
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Options:

1)92

2) 86

3) 101

4)95

Correct Answer: 92
Candidate Answer: 92

QID : 82 - Mahesh buys 3 shirts at an average price of Rs 1250. If he buys 2 more shirts at an average price of Rs 1450 what will be the average price (in Rs) of all the
5 shirts he buys?

B 1250 TT & S 7o § i € @lieat 51 IfE a8 1450 FUAT o Sfid e & & 3R A @iear 8 o @ig g aeft uiet el o sited qea (Fuat #) wm gi?

Options:
1) 1370
2) 1330
3) 1310
4) 1390

Correct Answer: 1330
Candidate Answer: 1330

QID : 83 - In a one day match of 50 overs in an innings the Team A had a run rate of 6.1 runs per over. Team B is playing and 10 overs are left and the required run rate
to tie the match is 6.5 per over. What is Team B's score now?

50 3R & Uah Raedia & & &9 A 3 T U & 0fd 8flaR 6.1 Y @R & 39 T &9 B BT @1 & 3R 10 3ifeR 99 & 941 8 ot 18 811 & iy 3mmasgeh T 3@ 6.5 Ufd sitar &1 &9 B &t
@R aft I 82

Options:

Correct Answer: 240
Candidate Answer: 240

QID : 84 - Average of all even numbers between 222 and 250 is

222 3R 250 & g i gff g9 Gemsi wreftwa &1

Options:
1) 234

2) 232
3) 236

4) 230
Correct Answer: 236
Candidate Answer: 236

QID : 85 - A vendor buys bananas at 7 for Rs 6 and sells at 6 for Rs 7. What will be the result?

ek fachar 6 98 8 7 et @edT & 3R 7 Fud H 6 chet sgdT & | ST TURUTH &7 g2
Options:

1) 36.1% loss

36.1% g1f

2) 26.5% profit

26.5% 9

3) 36.1% profit

36.1% 19

4) 26.5% loss

26.5% gIf

Correct Answer: 36.1% profit
36.1% 9

Candidate Answer: 36.1% profit
36.1% <9

QID : 86 - A miner sells a diamond to a trader at a profit of 40% and the trader sells it to a customer at a profit of 25%. If the customer pays Rs 56 lakhs to buy the

diamond, what had it cost the miner (in Rs lakhs)?

ok @ik Rt Samamt Y 40% & &1 TR Tk ST S=raT & SR Uit 3§ 25% h &1 UR UTeeh oht SadT & | afe TTgeh = 39 2R ol @ltert & iy 56 @g wudl ot SJ1ar fakan & &t @fAese
I g R fohat Tt (eme suat #) # fAer?
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Options:
1) 30

2)28
3)25

4) 32
Correct Answer: 32
Candidate Answer: 32

QID : 87 - A grocer had 1600 kgs of wheat. He sold a part of it at 20% profit and the rest at 12% profit, so that he made a total profit of 17%. How much wheat (in kg)
did he sell at 20% profit?

Qe STST farshel 3 U9 1600 fhaiam 7ig €1 $9ch Gk W &l 38 20% ST TR ST ST STeRT a1 §Q T i 12% W1 TR ST | 59 TR S et 17% 1 G711 I8 20% AT R
fora g (Reetum ) sr=m?

Options:

1) 600

2) 1000
3) 800

4) 1200
Correct Answer: 1000
Candidate Answer: 1000

QID : 88 - A used two-wheeler dealer sells a scooter for Rs 46,000 and makes some loss. If he had sold it for Rs 58,000 his profit would have been double his loss.
What was the cost price (in Rs) of the scooter?

TR IR o fahell < Toh Wher 46,000 FudT & a1 3R I8 G TehaH gl Al 3T 58 58,000 Fut & S gl dl STk 71 IGe Tehel & ST §laT| The I ANT e
(Fuat ) & a1?

Options:

1) 52000

2) 54000

3) 48000

4) 50000

Correct Answer: 50000
Candidate Answer: 50000

QID : 89 - 0.08% of 120% of 50,000 is equal to

50,000 T 120% T 0.08% FHRER I

Options:

Correct Answer: 48
Candidate Answer: 4800

QID : 90 - When a number is increased by 24, it becomes 115% of itself. What is the number?

ST Rt e ot 24 § T ST & Y 98 W @1 115% 8t oIl & | 98 20T a1 82

Options:
1) 160

2) 250
3)100

4) 200
Correct Answer: 160
Candidate Answer: 160

QID : 91 - Two numbers are 40% and 80% lesser than a third number. By how much percent is the second number to be enhanced to make it equal to the first number?

3} Ty foneft et T & 40% 3R 80% & & | gERt T ol fohae Ufaird aeh srera S1TY ok Ug ugett Tt 3 SRTeR gt Sg?

Options:
1) 100

2)333
3) 66.6

4) 200
Correct Answer: 200



www.makemyexam.in - Powered by IBT

Candidate Answer: 200

QID : 92 - Price of diesel increased from Rs 45/litre to Rs 50/litre. How much should the consumption of diesel be reduced (in %) so as to increase expenditure by
only 5%?

BI5TeT Y A 45 T Ufd fex § Tgae 50 9 Tl #fiex 8 STTeht & | Soret hl @ud i fore=1 &d (% ) fomam SITq 36 oo haet 5% ek g1 96?

Options:

1)55

2)5

3)4

4) 45
Correct Answer: 5.5
Candidate Answer: 5.5

QID : 93 - A plane flies a distance of 1800 km in 5 hours. What is its average speed in meters/second?

Y i 5 b & 1800 fheiiier Sear 21 Hiew/ddhe & el 7y om ghft?
Options:

1) 200

2)10

3) 20

4) 100
Correct Answer: 100
Candidate Answer: 100

QID : 94 - If a boat goes upstream at a speed of 24 km/hr and comes back the same distance at 40 km/hr. What is the average speed (in km/hr) for the total journey.

s ol 1a a1 Y feam 7 24 .+t /gier i afa @ Tt & ok I+ € gt & 40 foh . /dfer it fay & aruw el 81 e A Y sitera Tif (s #h./der 7) T 82
Options:

Correct Answer: 30
Candidate Answer: 30

QID : 95 - Two bikers A and B start and ride at 75 km/hr and 60 km/hr respectively towards each other. They meet after 20 minutes. How far (in km) were they from
each other when they started?

3} 975 GIR A 3R B Teh qER i SR shsl: 75 foh ot /8ier 3R 60 foh. . /der <l nifel & e & 9 & a1 IR &hed 81 3 20 e a1¢ Uk ek & ferd &1 519 3619 e Ui fkar
o1 &8 370 e i g (Foh.=t. 7) arar of?

Options:

1) 60

2) 45

3)30

4)15

Correct Answer: 45

Candidate Answer: 45

QID : 96 - Excluding stoppages, the speed of a bus is 80 kmph and including stoppages, it is 60 kmph. For how many minutes does the bus stop per hour?

R ot Bis fear wig at s <t Tifar 80 o5+t /e ok oY oY fAetrens a7 Y wifay 60 o6+t /dier &1 a1 ufa gt foam fAmre Tandt 82
Options:

1)12

2)15

3)18

4) 20

Correct Answer: 15

Candidate Answer: 15

QID : 97 - In 2 years at simple interest the principal increases by 8%. What will be the compound interest earned (in Rs) on Rs 10 lakhs in 2 years at the same rate?

2 9T & TYRYT TSl § TAUH 8% ¢ ST g1 10 ARg I0a1 R ¢ @ & 2 aut o foig Iehgleg saret (Fuat #) @m ghm?





